™Mywnn PIoR 7"02

79905 Y
BYTA7 2979 21D
Sheet #4

2"y a7y ra Ty R'"Y 0T

I. Not Missing the Boat Questions

1) If Reuven used a 77wR 5w 2917 or a 777 7712y 2w 27 for 2717 Mgy, was he X1 the men? Why,
or why not?

2) Is a 2717 that’s 701 invalid?

3) Can Reuven be Rx¥1* the mxn of 2917 with a 2917 that has a curved shape?

4) Is a 2779 whose nnvn is "npom" invalid?

5) Can "91277 177 °2°%" be used for 2719 mgn?

II. nw7 that Emerge from the 07 Questions

1) (Based on >"wn) If a 2917 is 71%3772 70K, how is it that Reuven can be R¥1 his m¥n with such a
29?

2) What is the protocol for 77 WX trees?

3) What does "p12°172 p170" mean?

4) What is the nn1n?

5) Why can’t "o>7an m92" in the 2109 be referring to X1912?
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III. The npown List with Questions

apon "7
- What does "nn1ni ap?m" mean?
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